common rafters

(3) 25

\\\ upper tiebeam
8 x 8 post
I

16’ - 0“ 16! - Oil
=c’ : 1 11 ¥ " L - " L - {1 1 - il 1 - " ¥ - " L} - " 1 Al 1 Al L} " L} "
K 4 -0 p 4-0 P 4-0 L 4-0 40\!/ 4'-0 4 -0 L 4-0 P 4 -0 P 4 -0 P 4-0 L 4-0
S 4 7 4 7 i d 8 7 7 7 7
! m m : n o 0 m n —
. N | 7 x 10 upper chord | T | 7 x 10 upper chord | ] | 7 x 10 upper chord ‘ |
T | | | | |
(o2}
2 |
B 7 x 10 lower chord 7 x 10 lower chord B 7 x 10 lower chord
@ top of Tie ‘l _" \: 6x6 tapere_d_ struts B B B B B B i _— B B [
100'- 6" RN X
\ upper tiebeam s\\ upper tiecbeam \X\ upper tiebeam
8 x 8 post 8 x 8 post
7\ Ridge | | |
1/4" = 1'-0" ] 1
Siding
—\\ /~ 1/2" gypsum wallboard
5-1/2" EPS core (6-1/2" total
thickness) SIP wall panel -—————-—~\\\ 2x12 perimeter blocking
\ between rimjoist and 1st
= >l floor joist @ 16" o.c.
RK Scre Blocking (16" o.c.
GRK Screws @ Blocking ( ) AN 3/4" finish floor
. GRK Screws@ 6" o.c. N EWP Post
8d Nails connecting SIP skins\ 3/4" Advantech sheathing
to inset 2x - See schedule ~\ [
Main Floor _ - . =} A _
81'-3" 2 x 12 SPF Rimjoist —\ = .
1/2" advantech sheathing below Main floor level —\
: N 1] ]
Simpson HD3B holdown w/ SB 5/8" x 24" anchor N y -
bolt at each post location on foundation wall. -
Secure to post w/ 2@ 5/8" grade 2 thru bolts. ———— A %
5 AN
AR —
= IN>S

; = 7
GRK Screw @ 6" o.c. —/

2"x 12" x 8 PT SYP sill plate is attached to 8' x
16' prefabricated floor sections @ rimjoist and
blocking. Solid Shim as necessary to level
sections at every anchor bolt and fill any voids
with nonshrink structural grout.

3 GRK screws @ blocking (16" 0.¢.)

Note: GRK Screws are 5/16" RSS with min 2"
penetration into blocking and rimjoist

3 sill detail

S

2x12 joists @ 16" o.c.

Install solid blocking as necessary between post and joist

Provide additional 2x4 SYP PT sillplate at post locations.
Extend past, and fasten to, adjacent joists or blocking

——— EWP Post extends
through floor system to
bear directly on sill plate

10" conc. wall N 5/8" dia anchor bolt @ approx 48" o.c. (6" min

embedment into concrete). At post locations
substitute Simpson SB 5/8" x 24" anchor bolt
(shown). See foundation plan for exact
locations

11/2"=1-0"

For Permitting Only

Upper Floor

2 x 4 joists @16" o.c. laid
/ perpendicular to timber joists below.

90'-11 1/2"

@ Bath ceiling
1/2" = 1'-0"

X

2x4 joist @ 16" o.c.

¢

timber joist

void for waste lines

2x4 ceiling joist @ 16" o.c.

Tiebeam

timber joist

\ Header

~—— Post

N\ 2x6 wall

Dodgco

Date:

Reviewed for Code Compliance
Inspections Division
Approved with Conditions

08/19/14

Construction and Design Services

www.dodgco.com

Consultant
Address
Address
Phone
Fax

e-mail

Consultant
Address
Address
Phone
Fax

e-mail

Consultant
Address
Address
Phone

Fax

e-mail

Consultant
Address
Address
Phone
Fax

e-mail

Consultant
Address
Address
Phone

Fax

e-mail

No. Description

Date

Brew

Cushing Island
Portland Maine

Sections

Project number

FW-03

Date

4-7-10

Drawn by

Author

Checked by

Chec_ker

S106

Scale

As indicated

8/8/2014 12:19:09 PM




